
Jr

InvoiceM & N REPAIR LTD.Tfr

701 40TI AVE. EAST

PH: 306-948-3996

BOX418

BIGGAR, SK SOK OMO

Invoice #Date

2/14/2025 16368

V "

! Invoice To

CMS HOLDINGS

BOX 101

LANDIS, SK
S0K2K0

«cr^●mi

r
i^PAYMLNT IS DIJH IN FULL UPON RLCLIPT PLLASB NO Tl-: THERE WILL BE A 3% CHARGE ADDED FOR CREDIT CARD PAYMLNTS

\

Description Rate AmountQty

1997 WI-STLRN STAR VIN:2WKEDCXH5VK945444 424231 KM

CLAMP BAND ALUMINZIZD STi. 4”

3/8" HD U-BOLT CLAMP 3.5

REDUCER. ID-ID. 4". 3.5"

SHOCK ABSORBER KIT

SLACK. AUTO. l-l/2"-28SP. 5.5

threaded si rod

DEEP NUT

WASHER, U BOLT 3/4"

rORQUE ROD BUSHING
COLUMN. STEERING SERVICE

KING PIN. QWIK SET (WITHOUT CA)
SPRING

DRAG LINK 19.75 IN C TO C WEST

CROSSTUBE ASSEMBLY

TORQUE ROD AD.I 22.500 IN WI-.STE.R
FREIGI-rr

WINDSHIELD FTL/WST STAR-W/S RH C

WINDSHIELD/ WS'i'. FTL/ LI I

LOCK STRIP

HERCULES STRONG GAURD 11-LS 1IR22.5 146MH-STEER

AXLE- TORQUE WHEELS
TIRE RECYCLING FEE INDUSTRIAL 15-24.5"

Y PIPES/0

AIR ACT ASSY DB WS D

SKIRT NUT M22X1.5 -33MM HEX

CLAMP. ACCUSEAL, 5.00" ALUM

18.27

10.24

35.85

94.88

110.83

39.17

2.56

/I8.27 :
' 10.24 ;
\35.85 ;
189.76

664.98

156.68 ●

20.48

15.52 i

1

7

6

4

8

1.94

55.99

929.78

789.45

1.023.24

383.21

523.56

410.15

150.00

277.64

277.64

111.989

929.78 :

789.45 ■

2.046.48 :

383.21 ;

523.56 ;
820.30 ■

150.00 '

277.64 -

277.64 ■

74.25 ■

1.192.02

I

7

7

1

2.9725

596.017

14.00 28.00

799.99

377.42 ■

71..32 :
59.45

2

799.99

188.71

SUB TOTAliy

7

4

7

r"

Sales Tax Summary

RETORQUE WHEELS AFTER 100 KM

30% restocking charge on all returns and NO

returns for special orders
TotalGST/HST No. 829543487

Page 1



InvoiceM&NREPAIRLTD.

701 4TH AVE. EAST

PH: 306-948-3996

BOX 418

BIGGAR, SK SOK OMO

Date Invoice #

2/14/2025 16368

Invoice To

CMS HOLDINGS

BOX 101

LANDIS, SK

S0K2K0

PAYMLNT IS DUi: IN FULL UPON RECEIPT PLEASE NOTE: Tl ll/KI-: WILL Bl~: A 3% CHARGE ADDED FOR CRI-.DIT CARD l>AYMi:NTS

1

DescriptionQty Rate Amount

CLAMP-EXHAUST 5 IN OD FLAT

3/8 UNION, AIRLINE

HEIGHT CONTROL LINKAGE

COMP CONN 3/8 T X 1/4 MPT

HOSE- AIR BRAKE RUBBER 3/8 ARTIC AIR

AB 90ELB3/8TX 1/8 MPT

AIRBAG, (IRI1-028)

BUTT SPLICE, NYLON, 22-I8GA/PK 10

MIRROR, WC, 1" X 16", SS, HEAT/LIGH'I OR STYLE
20-18 GA GM WETRIPPACK TERMINAL

HEAT SHRINK

COUP 3/8 FINV FL

WIPER BLADE

SHIM

hose ASSY .30-3/8 NPT

STREET ELBOW 90 DEG - 3/8 PIPE

3/4" ZNC PLTD CLAMP W/RUB INSERT 3/811 D16-12

GREASE NIPPLE

LOCK RING

1 1/4 SPACER WASHER

1 1/4 SPACER WASHER

RECT MKR, 2 BULB SEALED AMBER

BULB- STD DUTY

5/8 UNION AIRLINE

CENTRE BEARING, 210661IX, SEL

U JOINT, 1760 FULL

CLUTCH BRAKE, BABCOCK

20.89 20.89 i
13.04 ;

51.37 -

21.04 ;

I
2 6.52

51.37

10.52

1!

2

1.25 2.93 3.66
!

6.85 I

284.34 ;

1 6.85

2 142.17

4.76 4.76

111.72 111,72

2 0.92308 1.85

2.88 2.88

1.58 1.58

2 38.71

17.75

77.42

17.75

35.22

1

2 17.61

2 6.45 12.90t

2 2.40 4.80

4 1.7006 6.80

2 1.00 2.00

5 2.55 12.75

2 2.18 4.36

3 3.37 10.11

1.83 1.83

15.67 I
180.14 I
■337.62 i
92.66

15.67

180.14

SUB TOmL^’

1

2

1

Sales Tax Summary

RETORQUE WHEELS AFTER 100 KM

30% restocking charge on all returns and NO

returns for special orders
GST/HST No. 829543487 Total

Page 2



M&N REPAIR LTD. Invoice
701 4TH AVE. EAST

PH: 306-948-3996

BOX 418

BIGGAR, SK SOK OMO

Date Invoice #

2/14/2025 16368

Invoice To

CMS HOLDINGS

BOX 101

LANDIS, SK
S0K2K0

PAYM1;NT is DUL in I'ULL upon RECFIIT please NOTE: THERE WILL BL A 3% CHARGL ADDED TOR CREDIT CARD PAYMLNTS

AmountRateDescriptionQty

4.12 ;
150.00

5.920.00 !

0.58915

150.00

185.00

18 GAUGE WHITE WIRE/ FOOT

SHOP SUPPLIES

LABOUR-REPAIR ENGINE OIL LEAK ON RH SIDE OF ENGINE

ON OIL FILL TUBE, CHECK ENGINE OIL LEVEL (OK),CHANGE
CLUTCH BRAKE. REPAIR EXHAUST, SECURE WIRING

DRIVERSIDE ABOVE FUEL TANK, REMOVE AND REFIT NI-W

AIRBAGS ON LEAD DRIVE AXLE, R&K DRIVERS MIRROR, R &R

SUSPENSION HEIGHT ROD AND ADJUST AIR BAG HEIGHT.

REPLACE AIR LINE FOR REAR HEIGHT CONTROL, CONNECT

WIRE TO WASHER FLUID PUMP, GREASE UNIT, R & R WIPERS,
R & R HEATER CONTROL AIR CYLINDERS, R &R STEER AXLE

LEAF SPRINGS, R & R KING PINS AND STEERING UNKAGE,
ADJUST TOE, R & R SLACK ADJUSTERS STEER AXLE, R & R
BOTH DRIVE AXLE SLACK ADJUSTERS, ADJUST BRAKES.

REPAIR LAMPS AS NEEDED. R & R CENTER BEARING AND U

JOINTS, R & R DRIVE AXLE TORQUE ARMS, REPLACE
STEERING COLUMN, R & R STEER AXLE SHOCKS,

7

32

$17,427.40SUB TOTAL

Sales Tax Summary

GST (1) On Sales@5.0%
PST (1) On Sales@6.0%
Total Tax

871.37

1.034.96

1.906.33

RETORQUE WHEELS AFTER 100 KM

30% restocking charge on all returns and NO
returns for special orders

TotalGST/HST No. 829543487
$19,333.73 !

i),m\

Page 3


